
Description Dimensions

12 x 
Fence Board 100% FSC in Charcoal, 

Coffee or Grey 1755mm x 145mm x 19.5mm
1 x 2.4m Post with Cap 2400mm x 70mm x 70mm
1 x 1.815m Insert N/A
1 x 20mm Insert N/A
1 x 55mm Insert N/A

1 x 

Top and Bottom Rail Set with 4 End 
Brackets  and screws (End brackets are 

pre-installed) 1748mm x 30mm x 20mm

Description Dimensions

12 x 
Fence Board 100% FSC in Charcoal, 

Coffee or Grey 1755mm x 145mm x 19.5mm
1 x 1.815m Post with Cap 1815mm x 70mm x 70mm

1 x 
Baseplate and Bolts (4 x M8x80 Screws 

For Baseplate to Post) 130mm x 130mm x 10mm

KIT-F2-CHCL/COFF/LGRY 1 x 1.815m Insert N/A
1 x 20mm Insert N/A
1 x 55mm Insert N/A

1 x 

Top and Bottom Rail Set with 4 End 
Brackets  and screws (End brackets are 

pre-installed) 1748mm x 30mm x 20mm

Components in the kit

Components in the kit

1.8m x 1.8m Fence Kit with 2.4m 
Posts for Concreting in

KIT-F1-CHCL/COFF/LGRY

1.8m x 1.8m Fence Kit with 1.815m 
post and baseplates         

(Bolts to fix baseplates to whatever 
the Fence is standing on will need to 

be sourced yourselves)



Description Dimensions

8 x 
Fence Board 100% FSC in Charcoal, 

Coffee or Grey 1755mm x 145mm x 19.5mm
1 x 1.815m Post with Cap 1815mm x 70mm x 70mm
1 x 1.815m Insert N/A
1 x 20mm Insert N/A
1 x 55mm Insert N/A

1 x 

Top and Bottom Rail Set with 4 End 
Brackets  and screws (End brackets are 

pre-installed) 1748mm x 30mm x 20mm

Description Dimensions

8 x 
Fence Board 100% FSC in Charcoal, 

Coffee or Grey 1755mm x 145mm x 19.5mm
1 x 1.54m Post with Cap 1540mm x 70mm x 70mm

1  x
Baseplate and Bolts (4 x M8x80 Screws 

For Baseplate to Post) 130mm x 130mm x 10mm
1 x 1.54m Insert N/A
1 x 20mm Insert N/A

1 x 55mm Insert N/A

(Bolts to fix baseplates to whatever 
the Fence is standing on will need to 

be sourced yourselves) 1 x 

Top and Bottom Rail Set with 4 End 
Brackets  and screws (End brackets are 

pre-installed) 1748mm x 30mm x 20mm

1.2m x 1.8m Fence with 1.54m Post 
and Baseplates

KIT-F4-CHCL/COFF/LGRY

1.2m x 1.8m Fence Kit with 1.815m 
post for Contreting in

KIT-F3-CHCL/COFF/LGRY

Components in the kit

Components in the kit



Description Dimensions

9 x 
Fence Board 100% FSC in Charcoal, 

Coffee or Grey 1755mm x 145mm x 19.5mm

3 x 
FSC 100% Balustrade Spindle - for 

Horizontal application 1730mm x 50mm x 30mm
1 x 2.4m Post with Cap 2400mm x 70mm x 70mm
1 x 90mm Insert Pack of 8 N/A

KIT-F1DT3-CHCL/COFF/LGRY 1 x 90 degree Fixed T Pieces Pack of 6 N/A

1 x 

Top and Bottom Rail Set with 4 End 
Brackets  and screws (End brackets are 

pre-installed) 1748mm x 30mm x 20mm

Description Dimensions

10 x 
Fence Board 100% FSC in Charcoal, 

Coffee or Grey 1755mm x 145mm x 19.5mm

2 x 
FSC 100% Balustrade Spindle - for 

Horizontal application 1730mm x 50mm x 30mm
1 x 2.4m Post with Cap 2400mm x 70mm x 70mm
1 x 81mm Insert Pack of 6 N/A

KIT-F1DT2-CHCL/COFF/LGRY 1 x 90 degree Fixed T Pieces Pack of 4 N/A

1 x 

Top and Bottom Rail Set with 4 End 
Brackets  and screws (End brackets are 

pre-installed) 1748mm x 30mm x 20mm

Description Dimensions

9 x 
Fence Board 100% FSC in Charcoal, 

Coffee or Grey 1755mm x 145mm x 19.5mm

3 x 
FSC 100% Balustrade Spindle - for 

Horizontal application 1730mm x 50mm x 30mm
1 x 1.815m Post with Cap 1815mm x 70mm x 70mm

1  x
Baseplate and Bolts (4 x M8x80 Screws 

For Baseplate to Post) 130mm x 130mm x 10mm
1 x 90mm Insert Pack of 8 N/A

KIT-F2DT3-CHCL/COFF/LGRY 1 x 90 degree Fixed T Pieces Pack of 6 N/A

(Bolts to fix baseplates to whatever 
the Fence is standing on will need to 

be sourced yourselves) 1 x 

Top and Bottom Rail Set with 4 End 
Brackets  and screws (End brackets are 

pre-installed) 1748mm x 30mm x 20mm

Description Dimensions

10 x 
Fence Board 100% FSC in Charcoal, 

Coffee or Grey 1755mm x 145mm x 19.5mm

2 x 
FSC 100% Balustrade Spindle - for 

Horizontal application 1730mm x 50mm x 30mm
1 x 1.815m Post with Cap 1815mm x 70mm x 70mm

1  x
Baseplate and Bolts (4 x M8x80 Screws 

For Baseplate to Post) 130mm x 130mm x 10mm
1 x 81mm Insert Pack of 6 N/A

KIT-F2DT2-CHCL/COFF/LGRY 1 x 90 degree Fixed T Pieces Pack of 4 N/A

(Bolts to fix baseplates to whatever 
the Fence is standing on will need to 

be sourced yourselves) 1 x 

Top and Bottom Rail Set with 4 End 
Brackets  and screws (End brackets are 

pre-installed) 1748mm x 30mm x 20mm

1.8m x 1.8m Fence Kit with 2 bar 
Decorative Top with 2.4m Posts for 

Concreting in

Components in the kit

1.8m x 1.8m Fence Kit with 3 bar 
Decorative Top with 1.815m Posts 

and Baseplates

Components in the kit

1.8m x 1.8m Fence Kit with 3 bar 
Decorative Top with 1.815m Posts 

and Baseplates

Components in the kit

1.8m x 1.8m Fence Kit with 3 bar 
Decorative Top with 2.4m Posts for 

Concreting in

Components in the kit



Description Dimensions

4 x 
Fence Board 100% FSC in Charcoal, 

Coffee or Grey 1755mm x 145mm x 19.5mm

2 x 
FSC 100% Balustrade Spindle - for 

Horizontal application 1730mm x 50mm x 30mm
1 x 1.54m Post with Cap 1815mm x 70mm x 70mm
1 x Inserts for 920mm Fence N/A

KIT-F9-CHCL/COFF/LGRY 1 x 90 degree Fixed T Pieces Pack of 4 N/A

1 x 

Top and Bottom Rail Set with 4 End 
Brackets  and screws (End brackets are 

pre-installed) 1748mm x 30mm x 20mm

Description Dimensions

4 x 
Fence Board 100% FSC in Charcoal, 

Coffee or Grey 1755mm x 145mm x 19.5mm

2 x 
FSC 100% Balustrade Spindle - for 

Horizontal application 1730mm x 50mm x 30mm
1 x 920mm Post with Cap 1815mm x 70mm x 70mm

1  x
Baseplate and Bolts (4 x M8x80 Screws 

For Baseplate to Post) 130mm x 130mm x 10mm
1 x Inserts for 920mm Fence N/A

KIT-F10-CHCL/COFF/LGRY 1 x 90 degree Fixed T Pieces Pack of 4 N/A

(Bolts to fix baseplates to whatever 
the Fence is standing on will need to 

be sourced yourselves) 1 x 

Top and Bottom Rail Set with 4 End 
Brackets  and screws (End brackets are 

pre-installed) 1748mm x 30mm x 20mm

Description Dimensions
1.8m x 1.8m Retrofit Fence Kit for 

fitting fence between existing 
concrete posts 12 x 

Fence Board 100% FSC in Charcoal, 
Coffee or Grey 1815mm x 145mm x 19.5mm

F-RKIT-CHCL/COFF/LGRY
1 x 

Retrofit Channel Kit (2 Channels) - 
includes caps 1800mm x 40mm x 40mm

(Also available with 10 boards for 
Existing Gravel Boards                         

KIT-F-RET10-CHCL/COFF/LGRY) 1 x 

Retrofit Top and Bottom Rails Set with 
4 End Brackets  and screws (End 

brackets are pre-installed) 1807mm x 30mm x 20mm

Description Dimensions

2 x 
Fence Board 100% FSC in Charcoal, 

Coffee or Grey 1755mm x 145mm x 19.5mm
1 x 1.815m Post with Cap 1815mm x 70mm x 70mm
2 x 1.54m Insert N/A
1 x 20mm Insert N/A
1 x 55mm Insert N/A

KIT-F5-CHCL/COFF/LGRY
2 x 

Top and Bottom Rail Set with 4 End 
Brackets  and screws (End brackets are 

pre-installed) 1748mm x 30mm x 20mm

0.9m x 1.8m Fence Kit with 2 bar 
Decorative Top with 920mm Posts 

and Baseplates

1.5m x 1.8m Two Board Ranch 
Fence with 1.815m Posts for 

Concreting in

Components in the kit

Components in the kit

Components in the kit

0.9m x 1.8m Fence Kit with 2 bar 
Decorative Top with 1.54m Posts 

For Concreting in

Components in the kit



Description Dimensions

2 x 
Fence Board 100% FSC in Charcoal, 

Coffee or Grey 1755mm x 145mm x 19.5mm
1 x 1.54m Post with Cap 1540mm x 70mm x 70mm

1  x
Baseplate and Bolts (4 x M8x80 Screws 

For Baseplate to Post) 130mm x 130mm x 10mm
KIT-F6-CHCL/COFF/LGRY 2 x 1.54m Insert N/A

1 x 20mm Insert N/A
1 x 55mm Insert N/A

2 x 

Top and Bottom Rail Set with 4 End 
Brackets  and screws (End brackets are 

pre-installed) 1748mm x 30mm x 20mm

Description Dimensions

3 x 
Fence Board 100% FSC in Charcoal, 

Coffee or Grey 1755mm x 145mm x 19.5mm
1 x 1.815m Post with Cap 1815mm x 70mm x 70mm
2 x 1.54m Insert N/A
1 x 20mm Insert N/A
1 x 55mm Insert N/A

KIT-F7-CHCL/COFF/LGRY
3 x 

Top and Bottom Rail Set with 4 End 
Brackets  and screws (End brackets are 

pre-installed) 1748mm x 30mm x 20mm

Components in the kit

1.5m x 1.8m Three Board Ranch 
Fence with 1.815m Posts for 

Concreting in

1.5m x 1.8m Two Board Ranch 
Fence with 1.54m Posts and 

baseplates

(Bolts to fix baseplates to whatever 
the Fence is standing on will need to 

be sourced yourselves)

Components in the kit



Description Dimensions

3 x 
Fence Board 100% FSC in Charcoal, 

Coffee or Grey 1755mm x 145mm x 19.5mm
1 x 1.54m Post with Cap 1540mm x 70mm x 70mm

KIT-F8-CHCL/COFF/LGRY
1  x

Baseplate and Bolts (4 x M8x80 Screws 
For Baseplate to Post) 130mm x 130mm x 10mm

2 x 1.54m Insert N/A
1 x 20mm Insert N/A
1 x 55mm Insert N/A

3 x 

Top and Bottom Rail Set with 4 End 
Brackets  and screws (End brackets are 

pre-installed) 1748mm x 30mm x 20mm

Description Dimensions

F-ANGFEN 1 x Insert for Creating Angled Fence

F-BPKIT 1 x 
Baseplate to post with Fixings ( 4 

M8x80 Screws)

F-BPBAL 1 x 
Baseplate to post with Fixings ( 4 

M8x80 Screws) with Skirt

F-BPF 1 x 
Stainless Steel Bolts M10x80 Hexagon 

Anchor Bolts (Fixing to concrete)
F-BPSK 1 x Post Skirt
F-PC1 1 x Post Cap

F-EB 1 x 
4 x End Brackets for Top and Bottom 

Rails with 8 x M4x25 Pan Head Screws
F-I20 1 x 20mm Insert
F-I55 1 x 55mm Insert

F-RI107.5 1 x 107.5mm Insert
F-RI118.4 1 x 118.4mm Insert
F-PI983 1 x 983mm Insert

F-PI1.155 1 X 1.155m Insert
F-PI1.54 1 x 1.54m Insert
F-PI1.2 1 X 1.2m Insert

F-PI1.1815 1 X 1.815m Insert
F-RC1 1 X Retrofit Post Cap

Additional Items

(Bolts to fix baseplates to whatever 
the Fence is standing on will need to 

be sourced yourselves)

Components in the kit

Components in the kit

1.5m x 1.8m Three Board Ranch 
Fence with 1.54m Posts and 

Baseplates


